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7 78 8B 98 10A 1A 128 1A 2B 38 4B 5B 68 1R
3HARTEDLE 2.9 0.0 22 130 9.4 07 -136 -122 1.4 79 102 130 225
REDEAERY -109 -11.7 -59 -102 -65 -58 -65 -51 -43 -22 -44 -29 -44
3HA%XDREL 712 -14 36 -109 -86 -29 9.3 36 0.0 29 44 07 -22
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B 4 R64F R74E
7 78 8B 98 1WA 1A 128 1B 28 38 4B s5A 6A 1R
37 ARTE DB 51 -9.1 00 169 169 78 -104 -77 26 5.2 1.3 52 179
BREDEERY -91  -79 -41 -13 39 39 -13 13 -26 00 -13 -26 0.0
3HAXNREBEL | -103 5.2 68 -91 -39 -26 5.2 00 -13 3.9 7.8 1.3 -26
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3 HARIE DB 250 -125 -125 125 -125 00 -125 0.0 375 0.0 375 -125 12.5
BEQEEKRY 0.0 0.0 0.0 00 -125 -125 -125 -125 0.0 125 0.0 00 -125
3HAEDREL 0.0 25.0 125 -250 0.0 125 0.0 125 0.0 125 0.0 125 250
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3HAREDLE | -350 -150 -190 -50 0.0 48 -48 -50 -50 -10.0 00 158 111
BREDEERY -150 -200 -238 -300 -300 -238 -143 -100 -50 -100 -111 -53 -11.1
3hA%MNREBEL | -100 -150 -48 -250 -250 -190 -95 -150 -150 -150 -167 -158 -27.8
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7 7R 8H 9A 108 1R 12AR 1A 2A 38 48 58 6H 78
3HAREDLE | 152 333 235 152 29 -188 -265 -303 -57 257 294 353 412
RENEERY -152 -182 00 -212 -147 -156 -11.8 -152 -86 -57 -88 -29 -88
3HAEDRBL 00 -152 00 -30 -118 31 324 212 114 8.6 838 5.9 59
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